
Multiply by 0.01 (A)Find each product.
9.121 × 0.01 = 6.81 × 0.01 =
4.15 × 0.01 = 5.4 × 0.01 =
0.27 × 0.01 = 9.85 × 0.01 =
4.7 × 0.01 = 5.88 × 0.01 =
9.62 × 0.01 = 6.778 × 0.01 =
8.474 × 0.01 = 0.9455 × 0.01 =
7.6 × 0.01 = 3.8672 × 0.01 =
6.8 × 0.01 = 5.2174 × 0.01 =
8.5 × 0.01 = 6.5 × 0.01 =
8.16 × 0.01 = 8.4355 × 0.01 =
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Multiply by 0.01 (A) AnswersFind each product.
9.121 × 0.01 = 0.09121 6.81 × 0.01 = 0.0681
4.15 × 0.01 = 0.0415 5.4 × 0.01 = 0.054
0.27 × 0.01 = 0.0027 9.85 × 0.01 = 0.0985
4.7 × 0.01 = 0.047 5.88 × 0.01 = 0.0588
9.62 × 0.01 = 0.0962 6.778 × 0.01 = 0.06778
8.474 × 0.01 = 0.08474 0.9455 × 0.01 = 0.009455
7.6 × 0.01 = 0.076 3.8672 × 0.01 = 0.038672
6.8 × 0.01 = 0.068 5.2174 × 0.01 = 0.052174
8.5 × 0.01 = 0.085 6.5 × 0.01 = 0.065
8.16 × 0.01 = 0.0816 8.4355 × 0.01 = 0.084355
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Multiply by 0.01 (B)Find each product.
6.318 × 0.01 = 7.12 × 0.01 =
5.48 × 0.01 = 6 × 0.01 =
6.6506 × 0.01 = 0.9393 × 0.01 =
2.773 × 0.01 = 6.3732 × 0.01 =
3.25 × 0.01 = 0.03 × 0.01 =
1.288 × 0.01 = 9.21 × 0.01 =
7.7348 × 0.01 = 3.2215 × 0.01 =
7.8 × 0.01 = 8.9944 × 0.01 =
9.1618 × 0.01 = 8.3768 × 0.01 =
1.62 × 0.01 = 3.7 × 0.01 =
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Multiply by 0.01 (B) AnswersFind each product.
6.318 × 0.01 = 0.06318 7.12 × 0.01 = 0.0712
5.48 × 0.01 = 0.0548 6 × 0.01 = 0.06
6.6506 × 0.01 = 0.066506 0.9393 × 0.01 = 0.009393
2.773 × 0.01 = 0.02773 6.3732 × 0.01 = 0.063732
3.25 × 0.01 = 0.0325 0.03 × 0.01 = 0.0003
1.288 × 0.01 = 0.01288 9.21 × 0.01 = 0.0921
7.7348 × 0.01 = 0.077348 3.2215 × 0.01 = 0.032215
7.8 × 0.01 = 0.078 8.9944 × 0.01 = 0.089944
9.1618 × 0.01 = 0.091618 8.3768 × 0.01 = 0.083768
1.62 × 0.01 = 0.0162 3.7 × 0.01 = 0.037
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Multiply by 0.01 (C)Find each product.
2.974 × 0.01 = 5.2 × 0.01 =
1.98 × 0.01 = 8.5 × 0.01 =
8.58 × 0.01 = 8.3825 × 0.01 =
4.158 × 0.01 = 5.9542 × 0.01 =
6.49 × 0.01 = 0.49 × 0.01 =
5.7 × 0.01 = 8.4 × 0.01 =
8.3 × 0.01 = 8.918 × 0.01 =
1.8 × 0.01 = 2.8532 × 0.01 =
0.701 × 0.01 = 6.364 × 0.01 =
9.724 × 0.01 = 1.8 × 0.01 =
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Multiply by 0.01 (C) AnswersFind each product.
2.974 × 0.01 = 0.02974 5.2 × 0.01 = 0.052
1.98 × 0.01 = 0.0198 8.5 × 0.01 = 0.085
8.58 × 0.01 = 0.0858 8.3825 × 0.01 = 0.083825
4.158 × 0.01 = 0.04158 5.9542 × 0.01 = 0.059542
6.49 × 0.01 = 0.0649 0.49 × 0.01 = 0.0049
5.7 × 0.01 = 0.057 8.4 × 0.01 = 0.084
8.3 × 0.01 = 0.083 8.918 × 0.01 = 0.08918
1.8 × 0.01 = 0.018 2.8532 × 0.01 = 0.028532
0.701 × 0.01 = 0.00701 6.364 × 0.01 = 0.06364
9.724 × 0.01 = 0.09724 1.8 × 0.01 = 0.018
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Multiply by 0.01 (D)Find each product.
2.7 × 0.01 = 9.7919 × 0.01 =
8.64 × 0.01 = 1.73 × 0.01 =
0.265 × 0.01 = 0.49 × 0.01 =
3.8427 × 0.01 = 7.1869 × 0.01 =
0.326 × 0.01 = 0.181 × 0.01 =
7.7617 × 0.01 = 8.4 × 0.01 =
6.663 × 0.01 = 2.29 × 0.01 =
6.7 × 0.01 = 9.55 × 0.01 =
2.0961 × 0.01 = 9.2 × 0.01 =
8.62 × 0.01 = 7.4725 × 0.01 =
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Multiply by 0.01 (D) AnswersFind each product.
2.7 × 0.01 = 0.027 9.7919 × 0.01 = 0.097919
8.64 × 0.01 = 0.0864 1.73 × 0.01 = 0.0173
0.265 × 0.01 = 0.00265 0.49 × 0.01 = 0.0049
3.8427 × 0.01 = 0.038427 7.1869 × 0.01 = 0.071869
0.326 × 0.01 = 0.00326 0.181 × 0.01 = 0.00181
7.7617 × 0.01 = 0.077617 8.4 × 0.01 = 0.084
6.663 × 0.01 = 0.06663 2.29 × 0.01 = 0.0229
6.7 × 0.01 = 0.067 9.55 × 0.01 = 0.0955
2.0961 × 0.01 = 0.020961 9.2 × 0.01 = 0.092
8.62 × 0.01 = 0.0862 7.4725 × 0.01 = 0.074725
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Multiply by 0.01 (E)Find each product.
8.3956 × 0.01 = 7.567 × 0.01 =
6.961 × 0.01 = 4.77 × 0.01 =
7.766 × 0.01 = 9.5 × 0.01 =
7.3 × 0.01 = 0.4 × 0.01 =
1.8013 × 0.01 = 1.2 × 0.01 =
4.1083 × 0.01 = 7.173 × 0.01 =
2.259 × 0.01 = 7.46 × 0.01 =
3.03 × 0.01 = 5.5 × 0.01 =
1.5133 × 0.01 = 4.233 × 0.01 =
3.998 × 0.01 = 0.6333 × 0.01 =
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Multiply by 0.01 (E) AnswersFind each product.
8.3956 × 0.01 = 0.083956 7.567 × 0.01 = 0.07567
6.961 × 0.01 = 0.06961 4.77 × 0.01 = 0.0477
7.766 × 0.01 = 0.07766 9.5 × 0.01 = 0.095
7.3 × 0.01 = 0.073 0.4 × 0.01 = 0.004
1.8013 × 0.01 = 0.018013 1.2 × 0.01 = 0.012
4.1083 × 0.01 = 0.041083 7.173 × 0.01 = 0.07173
2.259 × 0.01 = 0.02259 7.46 × 0.01 = 0.0746
3.03 × 0.01 = 0.0303 5.5 × 0.01 = 0.055
1.5133 × 0.01 = 0.015133 4.233 × 0.01 = 0.04233
3.998 × 0.01 = 0.03998 0.6333 × 0.01 = 0.006333
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Multiply by 0.01 (F)Find each product.
7.99 × 0.01 = 9.3851 × 0.01 =
7.387 × 0.01 = 3.9309 × 0.01 =
7.53 × 0.01 = 5.4789 × 0.01 =
9.933 × 0.01 = 6.732 × 0.01 =
7.796 × 0.01 = 6.25 × 0.01 =
4.2 × 0.01 = 8.6 × 0.01 =
2.9148 × 0.01 = 0.016 × 0.01 =
2.3976 × 0.01 = 6.032 × 0.01 =
0.3595 × 0.01 = 4.61 × 0.01 =
2.687 × 0.01 = 3.532 × 0.01 =
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Multiply by 0.01 (F) AnswersFind each product.
7.99 × 0.01 = 0.0799 9.3851 × 0.01 = 0.093851
7.387 × 0.01 = 0.07387 3.9309 × 0.01 = 0.039309
7.53 × 0.01 = 0.0753 5.4789 × 0.01 = 0.054789
9.933 × 0.01 = 0.09933 6.732 × 0.01 = 0.06732
7.796 × 0.01 = 0.07796 6.25 × 0.01 = 0.0625
4.2 × 0.01 = 0.042 8.6 × 0.01 = 0.086
2.9148 × 0.01 = 0.029148 0.016 × 0.01 = 0.00016
2.3976 × 0.01 = 0.023976 6.032 × 0.01 = 0.06032
0.3595 × 0.01 = 0.003595 4.61 × 0.01 = 0.0461
2.687 × 0.01 = 0.02687 3.532 × 0.01 = 0.03532
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Multiply by 0.01 (G)Find each product.
5.1202 × 0.01 = 4.25 × 0.01 =
5.4 × 0.01 = 4.47 × 0.01 =
8.4 × 0.01 = 6.8 × 0.01 =
4.4848 × 0.01 = 4.83 × 0.01 =
2.93 × 0.01 = 1.336 × 0.01 =
2.5049 × 0.01 = 1.92 × 0.01 =
8.565 × 0.01 = 5.8814 × 0.01 =
8.6 × 0.01 = 1.66 × 0.01 =
8.07 × 0.01 = 5.634 × 0.01 =
9.3447 × 0.01 = 3.781 × 0.01 =
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Multiply by 0.01 (G) AnswersFind each product.
5.1202 × 0.01 = 0.051202 4.25 × 0.01 = 0.0425
5.4 × 0.01 = 0.054 4.47 × 0.01 = 0.0447
8.4 × 0.01 = 0.084 6.8 × 0.01 = 0.068
4.4848 × 0.01 = 0.044848 4.83 × 0.01 = 0.0483
2.93 × 0.01 = 0.0293 1.336 × 0.01 = 0.01336
2.5049 × 0.01 = 0.025049 1.92 × 0.01 = 0.0192
8.565 × 0.01 = 0.08565 5.8814 × 0.01 = 0.058814
8.6 × 0.01 = 0.086 1.66 × 0.01 = 0.0166
8.07 × 0.01 = 0.0807 5.634 × 0.01 = 0.05634
9.3447 × 0.01 = 0.093447 3.781 × 0.01 = 0.03781
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Multiply by 0.01 (H)Find each product.
3.4 × 0.01 = 7.26 × 0.01 =
3.052 × 0.01 = 2 × 0.01 =
3.3347 × 0.01 = 9.378 × 0.01 =
3.9 × 0.01 = 1.8152 × 0.01 =
6 × 0.01 = 8.3 × 0.01 =
7.3751 × 0.01 = 7.2351 × 0.01 =
5.48 × 0.01 = 4.3916 × 0.01 =
4.51 × 0.01 = 4.021 × 0.01 =
5.1 × 0.01 = 8.667 × 0.01 =
1.8 × 0.01 = 6.29 × 0.01 =
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Multiply by 0.01 (H) AnswersFind each product.
3.4 × 0.01 = 0.034 7.26 × 0.01 = 0.0726
3.052 × 0.01 = 0.03052 2 × 0.01 = 0.02
3.3347 × 0.01 = 0.033347 9.378 × 0.01 = 0.09378
3.9 × 0.01 = 0.039 1.8152 × 0.01 = 0.018152
6 × 0.01 = 0.06 8.3 × 0.01 = 0.083
7.3751 × 0.01 = 0.073751 7.2351 × 0.01 = 0.072351
5.48 × 0.01 = 0.0548 4.3916 × 0.01 = 0.043916
4.51 × 0.01 = 0.0451 4.021 × 0.01 = 0.04021
5.1 × 0.01 = 0.051 8.667 × 0.01 = 0.08667
1.8 × 0.01 = 0.018 6.29 × 0.01 = 0.0629
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Multiply by 0.01 (I)Find each product.
1.6512 × 0.01 = 8.971 × 0.01 =
0.9 × 0.01 = 9.669 × 0.01 =
5.5631 × 0.01 = 2.34 × 0.01 =
3.4414 × 0.01 = 0.5826 × 0.01 =
2.4 × 0.01 = 2.878 × 0.01 =
3.0334 × 0.01 = 6.45 × 0.01 =
2.0945 × 0.01 = 4.7 × 0.01 =
5.8402 × 0.01 = 0.49 × 0.01 =
3.59 × 0.01 = 4.4 × 0.01 =
8.9 × 0.01 = 3.7 × 0.01 =
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Multiply by 0.01 (I) AnswersFind each product.
1.6512 × 0.01 = 0.016512 8.971 × 0.01 = 0.08971
0.9 × 0.01 = 0.009 9.669 × 0.01 = 0.09669
5.5631 × 0.01 = 0.055631 2.34 × 0.01 = 0.0234
3.4414 × 0.01 = 0.034414 0.5826 × 0.01 = 0.005826
2.4 × 0.01 = 0.024 2.878 × 0.01 = 0.02878
3.0334 × 0.01 = 0.030334 6.45 × 0.01 = 0.0645
2.0945 × 0.01 = 0.020945 4.7 × 0.01 = 0.047
5.8402 × 0.01 = 0.058402 0.49 × 0.01 = 0.0049
3.59 × 0.01 = 0.0359 4.4 × 0.01 = 0.044
8.9 × 0.01 = 0.089 3.7 × 0.01 = 0.037
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Multiply by 0.01 (J)Find each product.
7.09 × 0.01 = 4.7181 × 0.01 =
2.89 × 0.01 = 8.3 × 0.01 =
1.369 × 0.01 = 1.905 × 0.01 =
0.7235 × 0.01 = 2.0736 × 0.01 =
3.5086 × 0.01 = 2.1802 × 0.01 =
5.06 × 0.01 = 8.188 × 0.01 =
5.425 × 0.01 = 7.5 × 0.01 =
4.439 × 0.01 = 3.5288 × 0.01 =
0.689 × 0.01 = 7.2362 × 0.01 =
0.7 × 0.01 = 6.194 × 0.01 =
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Multiply by 0.01 (J) AnswersFind each product.
7.09 × 0.01 = 0.0709 4.7181 × 0.01 = 0.047181
2.89 × 0.01 = 0.0289 8.3 × 0.01 = 0.083
1.369 × 0.01 = 0.01369 1.905 × 0.01 = 0.01905
0.7235 × 0.01 = 0.007235 2.0736 × 0.01 = 0.020736
3.5086 × 0.01 = 0.035086 2.1802 × 0.01 = 0.021802
5.06 × 0.01 = 0.0506 8.188 × 0.01 = 0.08188
5.425 × 0.01 = 0.05425 7.5 × 0.01 = 0.075
4.439 × 0.01 = 0.04439 3.5288 × 0.01 = 0.035288
0.689 × 0.01 = 0.00689 7.2362 × 0.01 = 0.072362
0.7 × 0.01 = 0.007 6.194 × 0.01 = 0.06194
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